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QUESTION 1

Router R3 signals an LSP, reserving 1Gbps bandwidth on a 10Gbps link. RSVP configuration limits reservable
bandwidth to 20 percent on the egress interface. Which of the following statements is true?

A. The egress RSVP interface has 80 percent bandwidth unreserved.

B. LSPs can reserve an additional 9.9 Gbps bandwidth on this RSVP interface.
C. The head end reserves 100Mbps for the LSP

D. The egress RSVP interface has 1 Gbps bandwidth unreserved.

Correct Answer: D

QUESTION 2

Click on the exhibit.

A:MPLS_R1# show router mpls 1sp "tor6-B" path

MPLS L3P TtoR6-8 Path

LSP Mame : TORG-8 TO : 10.10.10.8

Adm State : Up oper State : Up

Path Name Next Hop Type out I/F Adm Opr
ToR6-1 10.1.2.2 Primary 1/1:2 up Up
TORG-2 10.1.3.3 standby 1/1/3 up Up
TORG-3 10.1.2.2 standby 1/1/2 up Up
TORE—4 nsa secondary n/a Up  Dwn
TORG-§ n/a secondary n/a Up  Dwn
TORG-6 n/a secondary n/a Up  Dwn
TORG-7 n/a secondary n/a Up  Dwn

If the primary path fails, which backup LSP path will the head-end router pick first?
A. The Standby with the highest next-hop IP.

B. The first Standby in the list.

C. The Standby with the longest uptime.

D. The Standby with the lowest next-hop IP.

Correct Answer: C

QUESTION 3
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Which of the following about MPLS shortcuts for IGP on an Alcatel-Lucent 7750 SR is FALSE?
A. An IGP route takes priority over a transport tunnel.

B. Both LDP and RSVP-TE based tunnels can be used.

C. MPLS tunnels can be used to resolve the prefixes learned via IGP.

D. Multiple MPLS tunnels can be installed in the FIB.

Correct Answer: A

QUESTION 4

If the destination IP address of a received unlabeled packet is successfully matched in the FIB, which of the following
statements are true? Choose two answers.

A. A PUSH label stack operation must be performed.

B. The outgoing interface and next-hop address will be determined from the FIB.
C. The packet can be forwarded as a labeled or unlabeled packet.

D. A POP label stack operation may be performed.

Correct Answer: BC

QUESTION 5

Two directly connected routers set different interface Hello timeout values. Router R1 uses 15 seconds, while router R2
uses 30 seconds. Which of the following best describes the LDP adjacency?

A. The adjacency forms with the lower timeout value.
B. The adjacency forms with the higher timeout value.
C. The adjacency is in init state.

D. The adjacency times out after 30 seconds.

Correct Answer: A
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